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0. By tre cosioe low oplied o ABP 2 ACP, we have. Crespectively):
= d e w* - 2dm cx(LAPB) , L = dT4 " —2dncos( ZAPC).
But, we kow ot cosCZAPR) 4+ cas(LAX) =0 sine LAPBALARC =2k . (uwﬂl’,
G+ W = (8502 -2mes (L0PB))n <+ ( Par®-Hn o5 (LHO))m
=0 v oo+ Pmentm —24mn ( os(ZBPB) +ws(£00))
= (man)(d*+mn)
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b. & P=R (bisedn of BC) we fwe by o)
%+ 2% = (Y+%)-(IMR1P+S§) = dalbe )= G(\M\"*-"-‘—-) = Liret = 2anlx 0%
ond afmtj\u =8, o=C' ve gek i ovologns aqutions:  0%4¢* = 208 4 el orebre= 2000 %
Rewll frob 1AG1=2(A6"\ or thak AL =2 1A\ This Shows thob, summiey S Hree previoss e,
(v \+(«+c’)+(a+\ﬂ_ 2RV 4B ) « £4 42
= 2 (0% 2(\M\’+\BB‘\ ) = 208 ( (pol+ a6+ 1Col?)
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